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(i) €% mast wear &t I 9 ? 1
(iii) g7e 3 ot 3@ J ? 1
(iv) SoHis =eiesr vd ¥ fsguwe fae der J 7 1
(v) wfeq 83t ¥ dt 3= I ? 1
(vi) @R 3 dt 3= J ? 1
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Is o0 st R At 4 yis @ad g | ada e o @39 60-70 HaEl R R,
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A 1 I Yl 4 olat ur Q) 4x4=]¢
() u Nar @ fan 99 qast o Au fifg forfmr @d | 4
(i) st Rt wet ¥ g '3 (i) gwEe wer (i) yaa wrer 3 ad | 4
Het (3. @g=t f&9)

TARE Yt 2,000

IWHE ¥dg 2,700

UHtes yrudhnit : 1,300

NEICIEARECES 600

Sahmi & end w3 fefsew 200

fug T fezer Urem yusni 1,100

ferm T ZaEs 800
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Feaiq ugr o3 | 4
TRt 2011 €t <tv3 2021 <t sfitig
A 153 260
B 100 120
C 120 . 210
D 240 350
E

70 60
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e (i) WW’W%E@WWW#?/W#EW@##WQ%/&W% 026/A sEsm
g
(i) STr-gheeT 7 & g g Frewe 4 f g7t e o Q¢ 9 @ a0 & O 747G
(i) e 7w 63 7 ga /gt 3 vy & Aol 7 g F AT T R T
(v) §7 997 97 ¥ %7 a% 497 &1 99% 997 1 G 9 A &
(V) I9%F 95 P 3% A @ T &
(Vi) TR Segaer & ST Rear o e &1

L. Frefafed 9o & oW & g F G 5l g 1 o o 2| 8x1=8
(i) &% a0 & 91 ®R W F1 99 95T § ? 1
(ii) =T qugH qx 18 ! 1
(iii) o1 @ =7 P & ? 1
(iv) *==R Rfva T 39 P & w22 1
v) Sfsadiame? ‘ 1
(vi) ws&raT @ e ? 1
(vii) s § Fuit & B B o qEe i 1
(viii) wafaer & T oifmma ® 7 1

2. Trefiad usd @ 4 991 & I) &1 Y90S 99 & I 60-70 g1 7 ][ )yl 9 4 R H 2|

4x4=16
() o i B Bl 9 FROT 9/ § a0 HL ‘ 4
(i) PFrefiied 78 3 oER W (1) oG R (i) g e FaiRa st 4
LA (#0573 ¥)
o Jifdi 2,000
™ I ‘ 2,700
o sk 1,300
Y @ 600
o1 e ofR R 200
IR AR ST T S by 1,100
= T | 800
(iii) Pt 203 Tram 9 3 afge 8N & R IeRard R T 71 § ? o9 @ Rt 9 &) Tt @R
: : 4
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(iv) s A s ol Prafor & @ A R A amadt A dia 3 Fand ) 4

v) quirela R @ AT B e e o1 wh ard ] A @ 9 e 4 4
(vi) Pretfifte o3t & e T R ol e o 1 e shved R 1 ST Fed gerE a2
4
7% 2011 % g 2021 ¥ g4
A 153 260
B 100 120
C 120 210
D 240 350
E 70 60
Frefifaa e @@ ofR P 4 el @ oee 31 0% 99T 1 0% o 21 4x1=4

S STAT 1 2T g FaiRd w3 § 7o F § fe B o arferaen § o 1w S B E
A & @ T 21 290, adeaen 3 fug i o) 2v & ool & 9wl g § weaye aRem e S
et %) ot % aRa § S v § ofd @ @ 3, ‘ot oiwR- 2019 ‘(Energy Statistics 2019)°
St 5 3 QiR TR, At ik S o HIed, ARG YR B SH T O I & oA,
A1 & Sl 1 e i e 212017-18 , wRa 3 ol 44% S 1 wE A9 {70 B A
S @1 qEU T i SgfwE 31 2017-18 F ARG A st 34% I e W A 90 A E
=0 99 & 3R, Rare @ RT3 rwft 13% St i oreed I8 @1 ¥ | 38 T R wa § Sl e
g@a}a%lzon-lsﬁ,w%7%mﬂmm§ﬁﬁﬁﬂﬁaﬂ12%aﬁﬁ$rmmém
gl

Iyl R @ @ & § B aaen ok AR aa F I Iw @ @ gem @ ¥ A B
3t AN 3 qEET W g 99 9ga &, ks IR ) st Pl 3 & o R 3 g w2
ZafRI ST 3 S @ 51 et gl 9 Tl iR #1 F H rewd 8 1 F S e, I B R-wewr
a1 il G § S Wi 3 WEE B IUgE AT F ARG & R qgd Es 8

(i) =@ d ad 2017-18 7 It & wd qU F A Iiferam F Reerem Qe e ? 1
(i) «rg 3 St & R 9 A wed s dRE 8 ? 1
(iii) @193 @ ot 1 7oA 4w B ? | !
(iv) ¥iferam A gra St @ sdEEen B 7 THAE 8 7 1
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o Pl wel @ am 1504200 g A 2 w@w we 6 ol @ B 2x6=12

() @i 4 ) ofoni 501 38w ¥% & Fdl ) @ 0 6
STt

WWW@WW%?WWHM%QW-@HW%?I 6

(if) - srefia R soveh & o & fre g 2 6
STl

6

TRA § T D qeRE R R-uKaRe dit 7 Rear @ =9 #L

(English Version) '
Note 36" You must write the subject-code/paper-code  026/A in the box provided on the title
page of your answer-book.
(i Make sure that the answer-book contains all pages (including title page) intact and
are properly serialed as soon as you receive it.
(ii))” Question/s attempted after leaving blank page/s in the answer-book would not be

evaluated.

M This question paper has a total of 4 questions. Every question must be answered.
/)] The marks of each question are written in front.
(}d) Simple calculator can be used.

1. Answertothe following questions should be given in one sentence or one word. Each question

carries 1 mark. 8x =8
(i) What effect does excess demand have on the price level ? 1
(ii) - What is meant by high powered money ? I
(iii) What is meant by budget ? I
(iv) How is the flexible exchange rate determined ? 1
(v) What is meant by organic farming ? |
(vi) What is meant by migration ? | ’ :
(vii) Write any one problem of power sector in India. 1
(viii) What is meant by the environment ? l
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.

Credit and other Capital receipts 1,100 - ‘ O
Interest Payment : 800
(iii) What are the various causes for the adverse balance of payment of a country * ? Dlscuss

):w)/Bricﬂy explain any four obstacles in the way of huxﬁan capital formation in India. 4

(v)>Suggest any four steps that can be taken to prevent environmental degradation. -

(7)

Answer any four questions out of the following. Each question should be answered in

60-70 words. Each question carrics 4 marks. 474=16
Explain any four reasons for excess demand in brief. 4

(il) Determine (i) Revenue Deficit and (ii) Primary Deficit on the basis of the following data.

4
Items (Rs. in crores)

Revenue receipts 2,000 (b

Revenue Expenditure 2,700 0/\)

Capital receipts 1,300

Capital Expenditure 600

Debt Recovery and Disinvestment 200

four of them.

f'f From the following data, find the index using (i) simple aggregative method and (ii) simple

average of price relative method. 4
Items Price in 2011 Price in 2021
A 153 260
B 100 120
C 120 : 210
D 240 350
E 70 60
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(8)

Read the following paragraph and answer the following four questions. Each question is of
1 mark. 4x1=4

Encrgy consumption structure helps to determine the source of consumed energy in any
cconomy. This can Iead to important conclusions about the cconomy and energy consumption
in the country. As far as the structure of energy consumptlon in India is concerned, the ‘Energy
Statistics 2019°, according toa a report published by the Central Statistics Office, Ministry of
Statistics and Program Implementation, Government of India, coal is the main source of energy
in India. In 2017-18, India met 44% of its energy needs from coal Petroleum is the second
major s Source of energy in Im:m% of its energy needs from petroleum.
"During the same penod India met 13% of its energy neem&ﬁéleemcny is thus
the third major source of energy in India. In 2017-18, India consumed 7% of its energy from

natural gas and 2% from lignite.

A From the above analysis it is clear that coal and petroleum are the major sources of energy

consumpt:on in India. /Ex&;uemeoﬂcoa&a s a detrimental gffect on the envnronment, while
increasing dependence on petroleum increases the country’s 1mport bill. Therefore Indla needs

————

to reduce its dependence on these two sources of energy o doso, it weratlve for India to

-

make proper use of the potential energy generatlon fromnon-conventional or renewable energy
/

sources.

(i) What was the contribution of petroleum in fulﬁlling energy requirements in India in
201718 %t1: ki s 1eoel 16 Sarer el e e . I

(i1) Which sources of energy has major contrlbutmn inIndia > 1

(iii) What is the main disadvantage of_eﬁn_evrgyéfr_om ceal ? _ ]

(iv) What is the harm of energy from petroleum to the economy ? 1

Answer the following questions in 150-200 words. Each question carries 6 marks. 2x6=12
(i) Define Central Bank. Explain various functions of a Central Bank. 6
or

What is meant by a flexible exchange rate system ? Describe the advantages and

disadvantages of a flexible exchange rate system. 6
Y
(ii) Suggest some improvements in Indian education system. : 6
or

Discuss in detail the conventional and non-conventional sources of energy in India. 6
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